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With the stipulation that there — JRIIX 13 > 397 ARIIN 12 PRW NI Y
is no deceit; nevertheless the rules of RN apply

OVERVIEW

13v 21 resolved the contradiction of the two rulings of ?Xw. When the stipulation
1S RN 9V T2 PRY 2"V, there is no I81X; however if he said IR1IX 12 PRW 1"V, there
is nXNX. Similarly by n°y»aw if he states, n°¥>awa "wnwn XKW n"y, it is effective;
however if he says nwaw “wnwn Xow n"v it is not effective. There is a dispute
between >"¥1 and N1BOIN in the understanding of 71v 2.

- Y2 PRY ANIND TNV 5IN 13193 919 N Y 00PN Y
»''w9 explained the expression of ‘with the stipulation, etc. that IX1X 12 X’; to
mean; ‘I guarantee you against 7R1W’°, for there is no deceit here. This was his

stipulation -
- 2wnav myv NPNR NNNT ANRIN I W 297

However there is 783X here, so it is a mistaken sale, since he deceived [him].
This concludes >"wn5.

mooIn disagrees with >"wAo:
- NONYN IPPAY NIV $0NYN RIY N3 ¥ >33 590 1131 59577 INII RY)

And ""?75 does not appear to be right, for how does 711¥ 17 compare n°v2v to
TRI1IX by saying the same is also by n°y°2w when he states ,now 2w siunwn RHw »''y

DNURAWR NOPOAW that it is the same as AXNN 12 W "7 ,ARNK 12 PRY 2", but they are not the same -
- ‘myo NPNT RNYL 7Y XY ONM

For there by n°y°aw the reason of nwyw np» is not applicable, as it is by 12 pxw 2"y
IX1X; how can 71¥ 27 compare them.

mooin offers his interpretation:
= YIYN NANIN I PRY NN DY 9INM 13 HNINY 1929 Y9 790

Lo a2
% The n"27 M1 amends this to read, X9 12 wnow (instead of X9 wndow). He told him there would be no deception in
the sale and in reality there was a deception, therefore it is a Nyv npn.
3 73V 27 is (seemingly) saying that there are two cases by X1 (one which XX 12 X and one which XX 12 ¥°) and
two cases by n°y°2w (one which is not vawn and one which is vnwn). The two corresponding cases (AR1X 12 ¥ and
vRwn N°Yaw) are meant to be similar in their respective cases, as to why the stipulation is not valid.
* mooin is asking that the two cases where the stipulation is not valid (7831 12 2> and vawn N°v°aw) are not similar at
all according to >"wn5. The reason why X1 12 ¥ in the case of AR 12 PRW 1"y (which is that he promised not to
deceive him and he did deceive him) is not at all applicable to the case of nunwn n°y»aw (when he said X7 n"y
Ny aw "1nwn), since the concept of Nww np» has no meaning by Ny aw.
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So therefore the 2''2w9 explained that 7RI 12 J°Rw »''Y means that the stipulator is
saying -

= 9N NIN NI DY NPNRD DY 1NN RDT IND NOIN DN NOY
‘That the prohibition of 1230 X% (you shall not deceive) should not apply for this

sale’; but perforce it applies against his wishes -
= ANMIN NIINM “H102Y 9199 PNY

For the stipulator cannot nullify [the prohibition of] 10 X? from this act of

deception. However if the stipulation was -
- £ 1NN MY DINNN NYN ININD *9 YANH NIW 9155 ININ 1Y 79 PNY N3N Yy

RN Y9 70 PR 2''y, which means ‘that you shall not demand from me the
ARIR  payment, but rather you should absolve me (from the XX

responsibility)’; his stipulation is valid. This is regarding 7R -
= 919195 MYV VRVYN NHY 1IN Y 919 NI

And here too (by n°y°2w) if the stipulation is n*y aw w»wn X>w »''y; meaning -
= INVNYN 1YY NVNRYN INN THN NPNR ON 5PYAY NN DIN> XY

That the nsy>2w 910°R should not be in effect if I take from you the payment

after noysaw; the rule is that POwaw is vawn -
119 )Y XN XY

And now the answer of 71V 27 is satisfactory, for they are both (7811 and n°y°2w)
the same.

SUMMARY

According to *"w" the meaning of 7RI 1217 PRW n"Y is that the stipulation is that it
is an honest sale without deception; according to M»d01n it means that the laws of
781X should not apply (as opposed to AXIR "2y 7% PRW 1"y, which means that you
should be 71 me the IR1IR).

THINKING IT OVER
What would °"w1 maintain in n901n case of XK 12 17 PR »"v, and what would
NI90I1N maintain in "W case of RN 1217 PRW n"Y; would there be X1 or not?

> The 127 My amends this to read, 7MX» 127 Y025 (instead of N Hva%). No one has the right to void the W?; it
is (always) in effect.
% Both by nx1X and n°yaw he stipulated that the respective 2°10°X (of X1 and n°y>aw) should not take effect, which
he is not empowered to do; by dismissing a 7. Therefore in both cases the stipulation is not valid and there is 7X%
and nunwn respectively in both cases.
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